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3TIIT TS &THA A T TS L I hig IR TRt
TR o ¥ Tew §1 39 R % gad T 9 R
ZHH M i fefad i OX 36kt ol L, =1 Sl
{1 -7 & forg e

Mg(L, - L
) g(A1L )
MgL

@ AL
MgL
@ AQ, -D)
MgL
o v

forght faferet & 249 kPa g@ IR 27°C 19 R BRSNS
i o )

THHRITTE ¢ : (R=8.3J mol "1 K1)
1) 0.2 kg/m3

@ 0.1 kg/m3

3)  0.02 kg/m3

4 0.5 kg/m3

20 cm? &FRA & fohelt STHET T8 W 20 W/em?
3 TS o T YRS AT ST i ¢ |
1 fe =t aramafy § 39 g5 0 9T i T S ©
1 12x103J
@2 24x103J
(3) 48x103J
@ 10x103d

4 kg 3R 6 kg g=mH & T fuvei & fo)i =1 fopelt
FURTEd SR A Sie T R | gg SR Tt srfea
foreft & ot € (T 3fE) | TR =R (g)

el H =6 TR HT =ROT R
4 kg
6 kg
o g2
@ g
@) g0

@ g

Hindi+English

A wire of length L, area of cross section A is hanging
from a fixed support. The length of the wire
changes to L; when mass M is suspended from its
free end. The expression for Young’s modulusis:

Me(L, — L
) g(AlL )
MgL

@ AL
MgL
@ AL, -L)
Mgl
@ ot

A cylinder contains hydrogen gas at pressure of
249 kPa and temperature 27°C.

Its densityis: R=8.3Jmol 1K~ 1)
1) 0.2 kg/m3

2 0.1 kg/m?3

3)  0.02 kg/m3

4 0.5 kg/m?3

Light with an average flux of 20 W/cm?2 falls on a
non-reflecting surface at normal incidence having
surface area 20 cm?2. The energy received by the
surface during time span of 1 minute is :

1 12x103J
2 24x103d
(3) 48x103J
4 10x103J

Two bodies of mass 4 kg and 6 kg are tied to the
ends of a massless string. The string passes over
a pulley which is frictionless (see figure). The
acceleration of the system in terms of acceleration
due to gravity (g) is :

4 kg
6 kg
@ g2
@ gh
3) g/10
@ g
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5.

fret 19 & fau, fSoeT onfvas =M 4 qen 9
T n ¥, WA T 9 1 39 TR oA fhar S
qHA T

1
@ \/5 nmd?
1
@ \/§ nZmd?
1
(6)) 2 n2n2q2
1
@ \/5 ntd

et TR o forer & fordt T 1 20 m/s F AT F
FEATER STHHE! Uikl T § | FS HHI I¥E[ I8 IS
¥R ¥ 80 m/s o ST W THAA & | 39 HIAR it SHalrg
T (g=10 m/s?)

1)  340m
©@  320m
@) 300m
@  360m
= fordt ufadiy =1 ool e fean e ©

diem ST U gaea
TG Fiae AR FRIT & T HAT: € :
1 47kQ, 10%
@  4.7kQ, 5%
B  470Q, 5%
@) 470kQ, 5%

el TEH o fordlt wweeten 235U =g sHer)
FATE, A SRy 3R AT =2 % Ty 3ot B aen
M T

O zr
@ %Kr
@ PKr

144
@ '3Ba

G1

The mean free path for a gas, with molecular

diameter d and number density n can be expressed

as:
1
@ 2 nmd?
1
®  Fatd
1
®  Guid
1
@ \/5 ntd

A ball is thrown vertically downward with a
velocity of 20 m/s from the top of a tower. It hits
the ground after some time with a velocity of
80 m/s. The height of the tower is: (g=10 m/s2)

(1) 340m

@ 320m
3) 300m
4  360m

The color code of a resistance is given below :

Yellow Violet Brown Gold

The values of resistance and tolerance, respectively,

are :

1) 47kQ, 10%
@  4.7kQ, 5%
B) 470 Q, 5%
) 470kQ, 5%

When a uranium isotope 233 U isbombarded with
a neutron, it generates ggKr, three neutrons

and :

O zr
@ %Kr
@ 'PKr

@ '3Ba
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10.

11.

12,

13.

10 cm =20 & ot el =16t W 3.2x 10~ 7 C
Y THEHH ®9 § foafa 81 3@ M & s 9

15 cm GO W foegd &1 1 a2
[ 1 _ox 109Nm2/C2J
4
(1) 1.28x105N/C
2 1.28x108N/C
3 1.28x107N/C
(4 1.28x10*N/C

1g fertor o1 firsm ror (fisq =ior A) & fopedt T
3 T ST 10T { T 3T hleh =0 & foradia
Terh W ifereed ffd dt 71 afe s@ fm &
Y1} T STYHI €, T SATIGH IV &, T

2A
@ m
@ pA
WA
6)) o
A
“@ 2%

T 1A & < fafaret A @R B T g 9 foeht
WAk AT LIS € | A H A a9 IR @ |
o ared g o ¥ B yofa: Freifad 71 ww
FenTa SOHTERITG § 1 W9 hich o1 T @it fea
TS| AT AR T

1 T

(2  gHIEaAt
()  HHSET
(@)  qHEadt

599 HRUTTCIdl i fhET Tie 1 BS T 1200 A m ~ !
et =T S & T T R | 39 B & I
I TR @

(u0=4'rr><10_7TmA_1)

(1) 80x10"°TmA~!

@2 24wx10"5TmA-1

(3 24wx10-7TmA-1

4 24wx10"4TmA-1
ot erel % 0.5 g % oIk ol ©
1) 45x1013g

@ 1.5x1013J

3 0.5x1013J

4 45x1016g

4

10.

11.

12,

13.
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A spherical conductor of radius 10 cm has a charge
of 3.2x10~7 C distributed uniformly. What is
the magnitude of electric field at a point 15 cm

from the centre of the sphere ?

( L _9x10 NmZ/CZJ
4e

(1) 1.28x105N/C

@2 1.28x108N/C

B) 1.28x107N/C

4 1.28x10*N/C

A ray isincident at an angle of incidence i on one
surface of a small angle prism (with angle of prism
A) and emerges normally from the opposite surface.
If the refractive index of the material of the prism
is w, then the angle of incidence is nearly equal
to:

Lo
@ "
@ pA
A
®
A
@ 20

Two cylinders A and B of equal capacity are
connected to each other via a stop cock. A contains
anideal gas at standard temperature and pressure.
B is completely evacuated. The entire system is
thermally insulated. The stop cock is suddenly
opened. The processis:

(1)  adiabatic
(2)  1sochoric
(3)  isobaric

(4)  isothermal

An iron rod of susceptibility 599 is subjected to a

magnetising field of 1200 A m~1. The
permeability of the material of the rod is :
(nog=4m X 10-"TmA-1)

1) 80x10-5TmA-!

@ 247x10-5TmA-!

B 247x10~7TTmA-!

@) 24wx10~4TmA-1

The energy equivalent of 0.5 g of a substance is :
1) 45x1013J

2 15x1013g

3) 0.5x1013J

@)  45x1016J
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14.

15.

16.

17.

18.

40 wF o forslt Hemfa &1 200 V, 50 Hz & ac 3T
q Haiferd foman T €1 39 uftuy | o o1 9t Ared
e (rms) AM §, ST

1) 2.05A
@ 25A
B 25.1A
@ 17A

fordt fagm graeera o | o & IR faga &=
% FZHI it dFAS & AREHI BT FATIE oA ¥
(¢ = fo=ga et T 1 o)

®» 1:1
2) l:c
3 1:c?
4 c:1

ULV GoA9H i 1 m vt foRdlt g ©g & <1 fadl
H 5 kg 3R 10 kg THAM & < HT IS © |

5 kg o 01 § 34 T7eRR o Hafd o o6t gl (1)
¥

@) 50 cm
2) 67 cm
3) 80cm
4 33 cm

ot Hie |q o 9T 1=t | TS hig HiaRie ar
TG MU 3TRTA & 10 O Tferdie 1 39 foieg W Ggfera
AT S Y o AR 3 - 2 % AU | faeiera e
g1 afe gfaliy IR =) = 1.5 m ®, O 39 gfady
TN 1 o8 oTFaiTs ToTeeh Iialier 1 Q B, © ¢

1) 1.0x10"'m

@ 15x10"'m

B 15x10"2m

@ 1.0x10"2m

o7 o fgferd wam °, 9f wames i & = &
TR STET A1 U3 | FHelEeas @l bl g4 i a1 AT

¢ T S, o fiis <erd & s
(1) e

@ IR

3  TH-EeE

@ DI

5

14.

15.

16.

17.

18.
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A 40 pF capacitor is connected to a 200 V, 50 Hz
ac supply. The rms value of the current in the
circuit is, nearly :

1) 2.05A
@ 25A
@) 25.1A
@ 1.7A

The ratio of contributions made by the electric field
and magnetic field components to the intensity of
an electromagnetic wave is : (c=speed of
electromagnetic waves)

®» 1:1
2 l:c
3 1:c?
(@Y c:1

Two particles of mass 5 kg and 10 kg respectively
are attached to the two ends of a rigid rod of length
1 m with negligible mass.

The centre of mass of the system from the 5 kg

particle is nearly at a distance of :

@) 50 cm
2) 67 cm
3) 80 cm
4 33 cm

A resistance wire connected in the left gap of a
metre bridge balances a 10 () resistance in the
right gap at a point which divides the bridge wire
in the ratio 3 : 2. If the length of the resistance
wire is 1.5 m, then the length of 1 Q of the
resistance wire is :

1) 1.0x10~!m
@ 15x10"!m
@) 15x10"2m
4 1.0x10~2m

In Young’s double slit experiment, if the separation
between coherent sources is halved and the
distance of the screen from the coherent sources is
doubled, then the fringe width becomes :

(1)  half

(2)  four times
(3)  one-fourth
(4)  double
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19.

20.

21.

22.

23.

24.

ot 21rafyra &1, et 3% 10~ 10 Vm — 1 digdr &6
foega &1 H ofUamE 97 7.5%x 1074 m s~ 1§ HI
m2V-1g-1 ¥ Tfqeiterar 2 :

1 2.5x108

2 25x10°6

3 2.25x10-15

4 225x1015

1 [ML2T-?]

@  [MLOT—2]

3 [ML-I1T-2]

@  [MLT~?]

frefafaa § 9 forge fou 9 vied 99 =& § 2
(1) T A Blfera™ 9] (He *)
@ SIS T

() TRl A I 9] (Ne +)
4)  TIEGISH T

e Ut LCR 9R9Y fodt W91, Sicedr |id 9 T4t
¥ e L ol g1 foran S €, 1 9w SR Seedn %

Gk % 1 FHAR A1 % | AFE T TH W IRaY §
CH TR T a1 oft uRy 3iR Areedr % S HeAR —

3
& WA T 39 Uiy 1 v Ok T

@ 05

@ 10

@ -10

@ A

552 r T IS HivTeRT Felt STt H g § iR 59H S
FE h T 9% T €1 KR ol B R T H
TIAM 5 g ©1 5590 2r 1 12 371 Hf¥reht Teit ST
Hgell §1 30 el § TR ¢ 9l 1 §90H

@) 50g
2 10.0g
3 20.0¢g
4 25g

g TIfT fo fordl aR | 600 nm TS &1 Gehrer 71
W R 39 v o Afugeas &1 9™ 2 m T,
& fadeTr wr R

(1 1.83x10~7rad
@2 7.32x10""rad
B) 6.00x10~"rad

4 3.66x10~7rad

6
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20.

21.

22,

23.

24.
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A charged particle having drift velocity of
7.5x10"% m s~! in an electric field of
3x10~10 Vm~1 has a mobility in m2 V-1 g1
of :

1  25x108

2 25x10°6

3 225x10°15

4 225x1015
Dimensions of stress are :
1 [ML2T-Z]

@  [MLOT—2]

3 [ML-IT-2]

@  [MLT—Z]

For which one of the following, Bohr model is not
valid ?

(1)  Singly ionised helium atom (He*)
(2)  Deuteron atom

(3)  Singly ionised neon atom (Ne )
@ Hydrogen atom

A series LCR circuit is connected to an ac voltage
source. When L is removed from the circuit, the

phase difference between current and voltage

T

is 3 If instead C is removed from the circuit,
T

the phase difference is again 3 between current

and voltage. The power factor of the circuit is :

1 05
2 1.0
3) -1.0
4  zero

A capillary tube of radius r is immersed in water
and water rises in it to a height h. The mass of
the water in the capillary is 5 g. Another capillary
tube of radius 2r is immersed in water. The mass
of water that will rise in this tube is :

1 bOog
2 10.0¢g
3 200¢g
4 2b5¢g

Assume that light of wavelength 600 nm is coming
from a star. The limit of resolution of telescope
whose objective has a diameter of 2 m is:

1 1.83x10~7rad
©2 7.32x10"7rad
3) 6.00x10"7rad
4 3.66x10~7rad
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25.

26.

27.

28.

29.

JfoRIe o FIcHe a1 Tl a1t 319 81 & ¢
(1)  had Ui

@) koA AR

(@) U 3R erefuTeTR

4) e

Torell TR dfget Ho1iE, e Aread o §9 H 9
P T, T T 6 wF &1 IS TR HIEH SR T
TG ¢IRaT 30 wF & I § | 59 H1eAY o1 Tedich
7

(€g=8.85x10"12C2N~-1m~2)

1) 1.77x10"12C2N-1m~—2

@ 0.44x10-10C2N-1m—2

3 5.00C2N-1m-2

4  0.44x10-13CZN-1m~—2

DNA # T s & @ived & & o smeaeas e
10-20 J €1 eV H 8 M ©, ST :

1 06
@  0.06
3)  0.006
@ 6

anﬁqmﬁmm—%ﬂaﬁzﬁ@ﬁﬁ%
1 HRITE :

1)  had wwEfeie sr"

@  swfelirs iR wvafefe aw H
(3) e ¥ (current) ® gf§

@)  had iR srd

ry 3ﬁ'{r2ﬁlﬂﬂ3ﬁ ;=15 rz)%?ﬁaﬁﬂ??mraﬁwﬂﬁr
% ad H 1 K &t ghg e o forg streaeaes Seamsii o
TS T ST © :

9
@ 1
3
@ 2
5
3) 3
27
@ ry

25.

26.

27.

28.
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G1

The solids which have the negative temperature
coefficient of resistance are :

(1)  insulators only
(2)  semiconductors only
(3)  insulators and semiconductors

(4)  metals

The capacitance of a parallel plate capacitor with
air as medium is 6 uF. With the introduction of a
dielectric medium, the capacitance becomes 30 wWF.
The permittivity of the medium is :

(eg=8.85x10"12C2N~-1m~2)
(1) 1.77x10712C2N-1m~2
2  0.44x10-10CZN-1m -2
(3) 5.00C2N-1m-2

@  0.44x10-13CZN-1m~—2

The energy required to break one bond in DNA is
10~20 J. This value in eV is nearly :

1) 06
@  0.06
3)  0.006
@ 6

The increase in the width of the depletion region
in a p-n junction diode is due to :

(1)  reverse bias only
(2)  both forward bias and reverse bias
(3)  increase in forward current

4)  forward bias only

The quantities of heat required to raise the
temperature of two solid copper spheres of radii

r; and ry (r;=1.5 ry) through 1 K are in the

ratio :
9
@ 1
3
@ 3
5
® 3
27
“@ )
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30.

31.

32.

T 7T e IR o ToTe, Femm qron ®
A_
Y
B—1|
A A B Y
0 0 0
o 1 1
1 0o 1
11 1
@ A B Y
0o o0 1
o 1 1
1 0o 1
1 1 0
® A B Y
o o0 1
0 1 0
1 0 0
1 1 0
@ A B Y
0 0 0
0 1 0
1 0 0
11 1

Zifere fshan o e i fean o i S @ 8 ?

(1) 3MYR, Scdsish IR TR &5 o HIgsl THH
g = |

@ st Gfy IR Hures Wi S & stufefire
e Bt €

(3)  SMHR & oIgd Uden iR okl SIfd a1 =nfeu |

(@) TR, Scsieh S HUTESH &5l ! <19 Figard
HHM B =1

foret fier & 99 uerd i s+t 1 SIRET A TR B &
R Tk 9 U 8 @1 ® § SR 6 Hz oafd &
forer< 30l T W ¥ | W9 B H TG hl 8 FH I
fear srar g, @ faw= omgfa sg=sz
7 Hz @ Wt €1 afg A =i 31gfd 530 Hz &, @ B &t

o g
(1) 524Hz
@ 536Hz
(3) 537Hz
@) 523Hz

30.

31.

32,
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For the logic circuit shown, the truth table is :

A_
Y

B—

W A B Y
0 0 0
o 1 1
1 0 1
111

@ A B Y
o o0 1
o 1 1
1 0 1
1 1 0

® A B Y
o o0 1
0 1 0
1 0 0
1 1 0

@ A B Y
0 0 0
0 1 0
1 0 0
111

For transistor action, which of the following
statements is correct ?

(1) Base, emitter and collector regions should
have same size.

(2)  Both emitter junction as well as the collector
junction are forward biased.

(3)  Thebase region must be very thin and lightly
doped.

(4  Base, emitter and collector regions should
have same doping concentrations.

In a guitar, two strings A and B made of same
material are slightly out of tune and produce beats
of frequency 6 Hz. When tension in B is slightly
decreased, the beat frequency increases to 7 Hz.
If the frequency of A is 530 Hz, the original
frequency of B will be :

(1) 524Hz
@ 536Hz
(3) 537Hz

@) 523Hz
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33.

34.

35.

36.

foreht 1 faeqa feya =1 fged o0l 16109 C m
%1 39 fgga & R, 39 fgya & 318 9 60° FH1 w0
oM et foret Y@ o feerd 0.6 m gl o TRt forg

R, faga fave 2 -

[ 1 _g9x10° Nmz/CZ]
4Tr€0

1 200V

2 400V

@ A

@ 50V

geat % g8 W Rt fve &1 uR 72 N §1 gealt &t
oo &1 ot O F TR F9E W W favg W

TR YT 9c TehaT B 2
1 32N
@ 30N
3) 24N
4 48N
= fean T e I iR & fe, 9 (T) % we
farershan (p) o fa=Ror o1 frefud S g ?
@» p
T
@ °
T
® » \
T
) p/

T

AR o 0.2 m3 AT o forelt F=a &3 § &/
T W g fava 5 v umn e €1 39 8§ fora
&5 T IR §

1 0.5N/C
@ 1N/C
3) 5N/C
@ A

9

33.

34.

35.

36.

G1

A short electric dipole has a dipole moment of
16 x 10~9 C m. The electric potential due to the
dipole at a point at a distance of 0.6 m from the
centre of the dipole, situated on a line making an
angle of 60° with the dipole axisis:

[ L _9x10 Nmz/CZ]
4me)

1) 200V

@ 400V

3)  zero

4 50V

A body weighs 72 N on the surface of the earth.
What is the gravitational force on it, at a height
equal to half the radius of the earth ?

1 32N
2 30N
3 24N
4 48N

Which of the following graph represents the

variation of resistivity (p) with temperature (T) for

copper ?
» p \\
T
@) P/
T
® o \
T
@ 0 /
T

In a certain region of space with volume 0.2 m3,
the electric potential is found to be 5 V throughout.
The magnitude of electric field in this regionis:

1) 0.5N/C
2 1N/C
@ 5N/C
4)  zero
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37.

38.

39.

40.

41.

ot TRk T it efrad i et B ©
(SiezEHM frdish =k, do fFRua dau="T)

® 2 kT
® kT
®3) g kpT
@ kT

forelt o, Forent feorft R 2% m &, W 5@ A
foig % ufa: 37 N 1 B oo HE w@ Y, @
AT A hIfTT |

@ 6 Nm

@) —Gz\Nm

3) 6k Nm

@  6; Nm

Tgett 3gfa i 1.5 T ST 1 hTeI, WehTeT T

TeTef U SATIA AT S | A TR ot A e e
IHH! digdl & A F A S, A GR fora aw
fopert Bt 2

1 =R
@ T
® A

@ AR

50 cm ol foRet afierershr, T 100 ™ E @
2.5 A YR YaTfed o Wl ¥ 1 39 URATeeh & &g W
IR & T

(u0=4'rr><10_7TmA_1)

(1) 3.14x1074T

2 6.28x10-5T

3) 3.14x1075T

@ 6.28x10~4T

forelt Y3 aﬂ%ﬂl@ﬁ?{ IO ib _ﬁﬁ:ﬂaﬁq :
@) 30° <1, <45°

2 45° <1 <90°

3) i, = 90°

“@ 0° <1y < 30°

10

317.

38.

39.

40.

41.
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The average thermal energy for a mono-atomic gas

is : (kp is Boltzmann constant and T, absolute

temperature)
@ % kpT
@ g kpT
®3) % kpT
@ 3 kpT

Find the torque about the origin when a force of

A
3;j N acts on a particle whose position vector is

Zl/e\m~
A

@ 6 Nm

@ —6; Nm
A

3 6k Nm
A

4) 67 Nm

Light of frequency 1.5 times the threshold
frequency is incident on a photosensitive material.
What will be the photoelectric current if the
frequency is halved and intensity is doubled ?

1)  fourtimes
(2)  one-fourth
)  zero

4  doubled

A long solenoid of 50 cm length having 100 turns
carries a current of 2.5 A. The magnetic field at
the centre of the solenoid is :

(=4 X 10-"TmA-1

(1) 3.14x1074T
@ 6.28x1075T
(3) 3.14x1075T
(4 6.28x1074T

The Brewsters angle i, for an interface should be :

1) 30°<i,<45°
@ 45°<i, <90°
®) 1= 90°

@ 0°<i,<30°
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42.

43.

44.

45.

46.

formTerEen o fohdll Sorag@ &1 V diee & fayamm §
@R foran T 7 | AfS 39 Sorag i < Sl aTesd
1.227x10~2 nm ¥, @ faarm g

1 102V
@ 103V
(3) 10V
@ 10V

HIefeh 3fehi Sl 7 <d 8¢ 9.99 m — 0.0099 m I HH
FMEY?

1) 9.98m
2  9.980m
3 99m

4  9.9801m

forelt T 11 1 SIS 0.01 mm T THb JA
O W 50 W

9 T T 1 g o (=) ©
1) 0.25 mm

2) 0.5 mm

3) 1.0 mm

4 0.0l mm

TS 3] 7T T fordt o o faeemys 3R v &
= AR a1 © ¢

3

(1) ? rad
@) g rad
@ A

4  mrad

e 1 A% SagEnfeR ¥ SEn & fow gafed
IS |

@ g YRIGARGT () e dae
b) YHGTHRHT (i) IFHrDNA ST H
frmfor

©  ThEFRIRTE (i) ELUAT Uife s
gfraea

)  greEEer Gv) Cry 9RH
TSHIERTH

Frefafaa 5 9 w@ foaees 9w :

@ () © @
®» v @ @ @
@ @ @ @ o
@ @ @ O @
@ @ v @ @

42.

43.

44.
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46.

G1

An electron is accelerated from rest through a
potential difference of V volt. If the de Broglie
wavelength of the electronis 1.227 x 10~ 2 nm, the
potential difference is :

1 102V
@ 103V
(3 10%V
@ 10V

Taking into account of the significant figures, what
is the value 0of 9.99 m — 0.0099 m ?

1) 9.98m
2  9.980m
3 99m

4  9.9801m

A screw gauge has least count of 0.01 mm and
there are 50 divisions in its circular scale.

The pitch of the screw gauge is :

1) 0.25 mm
2) 0.5 mm
3) 1.0 mm
4 0.0l mm

The phase difference between displacement and

acceleration of a particle in a simple harmonic

motion is :
3
) > rad
m
) 3 rad
3) Zero
4  mwrad
Match the organism with its use in biotechnology.
(@  Bacillus @ Cloning vector
thuringiensis
(b) Thermus @)  Construction of
aquaticus first rtDNA
molecule
(0  Agrobacterium @i1)) DNA polymerase
tumefaciens
d  Salmonella @v) Cry proteins
typhimurium

Select the correct option from the following :
@ () ©@ @

O @ @ O @

@ @) @ G O

@ @@ @ O @

@ W @) @ O
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frefafea 1 gafea s
(@ SU&EFEIHETREE @ R
Gb) U<ES §Y U G) Hame
(©  Haehl § wifdrep fufa (i) RrEfA
L]
@  facioes SurT=Es (iv) loteH
frefafed § & v fases g -
@ (> © @@
@ @ © @ @
@ @ @ @O @
@ @ @ @ G
@ @ @ @ @
TIRY 1 I8 9N hH-| 7 99 9 - T e
T ST B B ?
(@)  TRITIN o 3T TATH
(k) R IR AT SFHRA WATHT
(© % T A
@  SSUS o ST YUI-hiy
O (a). (b) IR ()
@ (0 ¥R@)
® (@ 3IR@
@) I (a)
WﬁRuBiSCOWQﬁ At TSR fsham
Y foreep ffo ST €2
(1) 3-C3firew &1 1 379
@  6-C3fitew &1 1 379
() 4-C ik 1 1 319 3TR 2-C Afirek 1 1 277
@)  3-C3fitR & 2 317

Tk U= H Hehel Tefieh Scareehar 31X 4 greifie
IqTeehdl o oy o, frefafad § @ F 91 e a8

7?2
Q)

@

®3)

@

Hehel A THe ScaTgehal Fod HE Weifes Scargehal
H 31feren Bt ®

Hehel M Scareend 31X e WefHeh Scgehdl
T & § 3R A B

Hehel MHeh Scareend 3T e WefHeh Scgeha
& ol IS Ty TE R

Yehel TrIfieh Scateshd] Tadl e Witk Scareehdl
q %Y Bt T
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Match the following :

(@)  Inhibitor of catalytic @ Ricin
activity

(b)  Possesspeptidebonds (1)) Malonate

(© Cell wall material in @ii)  Chitin
fungi

(d)  Secondary metabolite @av) Collagen

Choose the correct option from the following :

@®
@
®3)
@

@ (b © @
@m @ @) @
@ @) @© @
@ @ @ @)
@ Gv) @ @

The plant parts which consist of two generations -
one within the other :

@)
(b)

©
GY
@®
@
®3)
@

Pollen grains inside the anther

Germinated pollen grain with two male
gametes

Seed inside the fruit
Embryo sacinside the ovule
(a), (b) and (c)

(c) and (d)

(a) and (d)

(a) only

The oxygenation activity of RuBisCo enzyme in
photorespiration leads to the formation of :

@®
@
®3)

@

1 molecule of 3-C compound
1 molecule of 6-C compound

1 molecule of 4-C compound and 1 molecule
of 2-C compound

2 molecules of 3-C compound

In relation to Gross primary productivity and Net
primary productivity of an ecosystem, which one
of the following statements is correct ?

@®

@

®)

@

Gross primary productivity is always more
than net primary productivity.

Gross primary productivity and Net primary
productivity are one and same.

There is no relationship between Gross
primary productivity and Net primary
productivity.

Gross primary productivity is always less
than net primary productivity.
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51.

52.

53.

54.

55.

56.

TeATGR el dlel U1edl ht ST Uf-erentat § FrEelfSst
T ST ffshan shi/eh Scate shiq Jvd B8 ?

(1)  hoe e

@ 3 iR SRS

(3  AHITE SR B ISH

@)  had STHIA

T A I AT |

(1) TS WS Y Ut dh 5Tal o =1 § iR @fsii
& =T | wnfaet St ®

2 TR Hod Hiadt fgdias < g @ o o7
3TU&TThd Tooh T 1 BIdl B |

@) o, A, et e o ST 3 S SIS
T 1 1 Bl §

(4)  3Td:HTS ST T AT Tl hdl, U ATk

HEEdl Ye it 21

Bt &9 &t fher S fger gRISaT s faw st
I AT Yk 18 T ©, Tfadie ©

(1) FHawI AN A
@ TRY I H
(3) e Wy ¥
@) HiedEH ¥

frafafes § & 9 @ g8 T SiwE dawd
g2

()  SfareFq AR mrgeRar
@)  CTEr R dicaied

(B)  FARew 3R TrEEEAIT

@) SR R gRImag
Tiferers = vig forad 9 o € 2
o 2RF

@  T@RE

@)  FHEIEeH

@)  griearTar

STICIEH & F9F S1.TA.T, i Heall ol Gier H il
TSITEH HeEg il € 2

1) SLTLT Seths
@) ST el
(3) STRUAN, UifeTHs
@ LT A
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The product(s) of reaction catalyzed by nitrogenase
in root nodules of leguminous plants is/are :

@)

Nitrate alone

(2) Ammonia and oxygen
(3) Ammonia and hydrogen
(4  Ammonia alone

Identify the incorrect statement.

(1)  Sapwood is involved in conduction of water
and minerals from root to leaf.

(2)  Sapwood is the innermost secondary xylem
and is lighter in colour.

3) Due to deposition of tannins, resins, oils etc.,
heart wood is dark in colour.

(4)  Heart wood does not conduct water but gives

mechanical support.

Bt cotton variety that was developed by the
introduction of toxin gene of Bacillus thuringiensis
(Bt) 1s resistant to :

(1)  Fungal diseases

(20  Plant nematodes
(3)  Insectpredators

(€Y Insect pests

Which of the following pairs is of unicellular
algae ?

(1) Gelidium and Gracilaria
(2) Anabaena and Volvox

3) Chlorella and Spirulina

4  Laminaria and Sargassum

Strobili or cones are found in :

(1)  Pteris

(2) Marchantia
3)  Equisetum
4  Saluinia

Name the enzyme that facilitates opening of DNA
helix during transcription.

(1)  DNA helicase

2 DNA polymerase
(3) RNA polymerase
(4) DNAligase
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58.

59.
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61.

siferdtsT & uftae & Hey § Tetd e 1 Team |

(1)  CO, = ¥k o AT H e et
0, H ST T Fehe T |

@ g H* 3= Higdl Siamrentor
9 H TR el

() O iR H HH pCO, ATFIEHIAST o
H Here 2t 7 |

@) AT H EACEE 9 S g@d: 0,
3TifYTeR <@ § Gaifed

ST Y G, Froreen (9 1) % o H 6 Hef o

TR |

Q) T wifereRr teEl s e B T

©@ IR SuTTeE 9fwa B R, gfs wRdt ®
wifehT DNA 1 Ufdepfa &1 sl |

(3) g faaeH BT g |

@)  ELTAT G A1 gfaeh s g

At sl o fawa ¥ fr=fafea § 9 F a1 wee
TAdR?

(1) 3@ Hl % AquEn | e B B

@ A FRET B w@aT T H A € |

@) A wfrRgsa # fafaa Tered = =19 w2
@ 3 Tt fooet ¥ for 721 e

= T =Rl Sk a1 A ot Sirel & 9t fgem o=
& forred 1 =5 1 |

wWY -1 wWy-11
(@) <EEES @  FRRT
()  =gHIE () wHIeTH
©  wEARTEY (i)  GreE
@ " Gv) gHifEeTg
@ ®) @© @
®H @ @ @O @
@ @ @O @ G
@ v @O @ a6
@ @O @ @@ G
fodiaen siesh &1 e faae ool Sar g
(1) G T
@ IS I % 9
(3) YRV TS STE(T] o Herdd o §HA
@) ISt 4 wed
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Identify the wrong statement with reference to
transport of oxygen.

(1)  Partial pressure of CO,4 can interfere with
Og4 binding with haemoglobin.

(2) Higher H* conc. in alveoli favours the
formation of oxyhaemoglobin.

3)  Low pCO, in alveoli favours the formation
of oxyhaemoglobin.

4  Binding of oxygen with haemoglobin is

mainly related to partial pressure of O,.

Identify the correct statement with regard to
G phase (Gap 1) of interphase.

(1)  Reorganisation of all cell components takes
place.

(2)  Cellis metabolically active, grows but does
not replicate its DNA.

3)  Nuclear Division takes place.

(4)  DNA synthesis or replication takes place.

Which of the following statements about inclusion
bodies is incorrect ?

(1) These are involved in ingestion of food
particles.

(2)  They lie free in the cytoplasm.

(3) These represent reserve material in
cytoplasm.

(4  They are not bound by any membrane.

Match the following diseases with the causative
organism and select the correct option.

Column -1 Column - 11

(@) Typhoid @ Wuchereria

(b) Pneumonia @)  Plasmodium

(c) Filariasis (i)  Salmonella

d) Malaria @av) Haemophilus
@ () (© @

»H @ W O @

@ @ @© (@ @)

G @ o @@ @@

@ o @ @ @)

Meiotic division of the secondary oocyte is
completed :

(1) At the time of copulation

2)  After zygote formation

(3) At the time of fusion of a sperm with an
ovum

(4 Prior to ovulation
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62.

63.

64.

65.

66.

forg fafy g/1 e Vs wa 801 T 9 98 &
T T feuRed’ TR @ T 2

1) SAREH g
@ R

()  SAdTSH

@  dfgaS

Tafes 31t sk & T YHIE H HRIgd TR BRI
I HEAT A 2AH 7 ?

1 T

@ @

(3) M

@ ==

frfafed ¥ 9 @& 3™ &1 g

(1) s - ST & @uel
o dred €

@ SRR - WU HT
TIhi <kl Gk
ETGIES

@) TR - @TATu ¥ fafire
TIHE WA
T

@ oM - WEWLH
3TU[ST T Sl §

THISTH h1 TehHeh 3TIET S A IR H JasT
EBTH'T%,%:

(1) e

@ R gTHESR
@  RIHRSFR
(4) G

FrreAferiad | S T Sfte G 1 Tk 0 6 § 2

1 SHI

@ HJIX

(3)  Sfd TER fshan
@ e ey
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By which method was a new breed ‘Hisardale’ of
sheep formed by using Bikaneri ewes and Marino
rams ?

(1)  Mutational breeding
2 Cross breeding

(3)  Inbreeding

4)  Outcrossing

The number of substrate level phosphorylations
in one turn of citric acid cycle is :

(1) One
2 Two
3)  Three
4 Zero

Choose the correct pair from the following :

(1)  Polymerases - Break the DNA into
fragments

(2)  Nucleases Separate the two strands
of DNA

(3)  Exonucleases - Make cuts at specific
positions within DNA

(4  Ligases Join the two DNA
molecules

The infectious stage of Plasmodium that enters
the human body is :

(1)  Sporozoites

(2) Female gametocytes
(3)  Male gametocytes
(4)  Trophozoites

Which of the following is not an attribute of a
population ?

(1)  Natality

(2)  Mortality

(3)  Speciesinteraction
(4)  Sexratio
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3 ITG S SR B STel WE TS 1 =aT |
(a) SHETHH & HHad

(b) STl SR AT 1w

©  FUHY I ST HH B

(@ ST HURET S H S

1) (0T

@ (), (b))

@) e (d)

@  (a) T (b)

T § o AT9R, fova § sfa fafawan e foat
772

1 20 fafeEm
@ 50 faferEm
3 7 fafaem

@ 1.5 fafem

A <915, 1 R AR TH. AiHg 9@ @
1)  sfercl st fageo

@ Tl = fagam

@ T g

@) oA 1 g

ot SR she W T § 2

1) YE-3gfem A s orfafiwm Tewe, T
H-TerEe ®ed 8, ol ¢ |

©@  wEidS e § A T B e g € S
TESSM 94 BRI & Bl

(@) SR g $gfer & Fions gRI Sedfed
TR

@ AT 3gfem we-ggfem @ Hvalfd 2 g1

Tk UISY o1 AYEY e ¥ Fefafeaa wrifes aam

T T

(@) ATk Fen  forat gu Hoed sed S Jarsk
g R T

(b) T g AR WU Feleh |

© g IR Aol Gogd s |

(@  HIoETE Hdsh ol AT |

39 UICY i I ST ST 9T i Ig=HT
1)  THSSTE S
@  fegaeast @
@) Tt s

(4)  THSSHA T

67.
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71.

Select the correct events that occur during
inspiration.

(@  Contraction of diaphragm

(b)  Contraction of external inter-costal muscles

(¢ Pulmonary volume decreases

(d)  Intrapulmonary pressure increases
D (@and(d

@ (), (b)and (d)

)  only(d)

@  (a)and(b)

According to Robert May, the global species
diversity is about :

1) 20 million
(2) 50 million
3) 7 million

4 1.5 million

The QRS complex in a standard ECG represents :
(1)  Depolarisation of auricles

(2)  Depolarisation of ventricles

()  Repolarisation of ventricles

(4  Repolarisation of auricles

Which of the following statements is not
correct ?

(1)  The proinsulin has an extra peptide called
C-peptide.

(2)  The functional insulin has A and B chains
linked together by hydrogen bonds.

(3)  Genetically engineered insulin is produced
in E-Coli.

4 In man insulin is synthesised as a
proinsulin.

The transverse section of a plant shows following
anatomical features :

(@) Large number of scattered vascular bundles
surrounded by bundle sheath.

(b)  Large conspicuous parenchymatous ground
tissue.

(c) Vascular bundles conjoint and closed.
(d)  Phloem parenchyma absent.

Identify the category of plant and its part :
(1)  Monocotyledonous root

(2)  Dicotyledonous stem

3)  Dicotyledonous root

(4  Monocotyledonous stem
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72.  HE FHYT H I HU | 72. Select the correct statement.
1) TR TS ¥ Heifed ¥ (1)  Glucagon is associated with hypoglycemia.
: — : (2) Insulin acts on pancreatic cells and
@  sgfem wzma“r SIf¥ThIe Td TEMEREE T adipocytes.
eIl AT B |

(3)  Insulinis associated with hyperglycemia.

@) fer eruvaREiia ¥ gefid €
(4)  TRIHICHISES TERITTANSIGY i IR B

<l 73.

4)  Glucocorticoids stimulate gluconeogenesis.

Montreal protocol was signed in 1987 for control
of :

73.  H 1987 H Hifgdd Uierenial ford o fE301 & fog
LTI foha T o ?

1) ST T erfa T ool gt o Sesi
@  eRd e T s

(1)  Emission of ozone depleting substances
(20  Release of Green House gases
(3)  Disposal of e-wastes

(4)  Transport of Genetically modified organisms

@) o3 (e-F FH) 1 FIeH from one country to another
@ ?j;;glgj H SRR TR S &itrihc tt(})ftif)cilowing columns and select the
74, T wisdi o1 fremm 9 W@ foshed w1 =oE | Column -1 Column -11

-1 — @ 6-15pairsof ()  Trygon

@ FmfSgi®6-15 (1) BT gill shits
T ()  Heterocercal Gi)  Cyclostomes

b EEaTETE @ o caudal fin

©  Ee S S S (©  AirBladder (ii) Chondrichthyes

@ fww () sifeeis @  Poison sting (v)  Osteichthyes
@ M @© @ @ () @@ @

»H @ @ O @ »H @ @ O @

@ @ @@ @@ O @ Gv) @) G G)

@ O @) @ @ G O Gv Gi) @)

@ @ @ & 0 @ @ G G 6

. Tfaeiem TSgHi % foma H et eH o ey
75 TSl TeId ! 75. Identify the wrong statement with regard to

1) ¥ SLTAT F TS Rl fereities el ™ Restriction Enzymes.

HEA R | (1)  They cut the strand of DNA at palindromic
@ @ i Aferaft & T ¥ sites.
@ Faf R ST, T B Gﬁ@,’ <1 TR (2)  They are useful in genetic engineering.

¥ (8)  Sticky ends can be joined by using DNA

ligases.

(@) T HIAEET TR ECTQZTQEFHEIﬁ TS 1 4)  Each restriction enzyme functions by
Frdteror oheeh el X € | inspecting the length of a DNA sequence.
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e fave o ded ¥ fAfafea &1 gafad
HIToTT :

(@)  JHYLE HTE @)  SuwHed
b) TAULIEA ()  FECTH
©  Tguee sfaeen (i) <t fafm
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(STATRTEATEH)
frfafed § 9 w&@ fasey g
@ ® © @
®  Gv @) @ 6
@ O @ @) @)
@ @ @) @ @
@ @) v @ @)

GEHTERT o T TS AT TR SUHET U=t St & :

(1) IR U %t arfee °

(@) JHRI] ki GHTGEY Haferd Aferet §
()  IEhIIA Al

(@) A H TR H

39 gfg a7 &1 9M adrd 9 T & ®Ed |
fgeh 9 SUF 71 i TwIE B Sl eidl §, q91 T
% THEA i ISER T B |

1) TeeEEmE
@ U
(3) UsHIfH T
@) WA
T =i o1 fret X Wt fashed 1 =9 &30 |
wWy-1 W - 11
(2) I HIH @ < fafean
b) TSHEE feuwHAS i) TRt g
1 A
(© SRTATTE (i) HIV GshHo1 o Tl
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@ R Gv) fgeg
yRfsfiraa
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Match the following with respect to meiosis :

(a)  Zygotene () Terminalization

(b)  Pachytene (@1) Chiasmata

(c) Diplotene (1)) Crossing over

(d) Diakinesis (iv) Synapsis

Select the correct option from the following :
@ () (© @

®» G @ @ @

@ o @ @ @)

@ @ @) @ O

@ @ @ O @

Cuboidal epithelium with brush border of microvilli
is found in :

(1)  ducts of salivary glands

(2)  proximal convoluted tubule of nephron
(38)  eustachian tube

4  lining of intestine

Name the plant growth regulator which upon
spraying on sugarcane crop, increases the length
of stem, thus increasing the yield of sugarcane
crop.

1)  Gibberellin
2)  Ethylene

(3)  Abscisicacid
4  Cytokinin

Match the following columns and select the
correct option.

Column -1 Column - 11

(a) Btcotton @ Gene therapy
(b)  Adenosine @)  Cellular defence
deaminase
deficiency
(c) RNAi @iii)) Detection of HIV
infection
d PCR (v)  Bacillus
thuringiensts
@ (M) @© @
»H @ @ @O @)
@ @ @ @ O
G O @ @ @)
@ @ o @ @>@



Hindi+English

80.

81.

82.

83.

84.

85.

31g 3refed! e fhed arn S § 2
O

@ g

@) e

@ &

e H et Wt Siqetl § sgarad 9 St ® 2

(1) el
@  fed
@  Egfer
@  SHrenfad

Ffg < AR &R i & o= i g 0.34 nm T 3R
Teh IR ShIf¥TehT st DNA =t fgsheett H &R i
F FA G 6.6x 109 bp T1 T DNA i TS
BRI ST

1) 25 HX
@ 22X
@) 2.7 HX
@ 2.0 "X

TIGATH (STIATEH/CAIA0T) St JHT STTEl i Gt
Bt B2

(1) SLUAT, 3] Hi 9gAH

@  tRNA &I THFTH R

3) Tk T-RIEH H TeEH
(@)  TEAEH ¥ mRNA F T97

11 & &9 TR Geoh | ST 1 Hied (STET)
HT ?

(1) IR i 3 Figd

2 LH & f1=1 giga

(3)  FSH &t 7= wigan

@) UEISH & 3 Figdl

Yfte Td STafth & U&7 ST ©
(1)  AER faem &

@ Nt dafs &

(3)  UTehideh aX0T <k

4)  3TIehet faferzor 1
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The ovary is half inferior in :
(1)  Mustard
2)  Sunflower
3) Plum
(4)  Brinjal

Which one of the following is the most abundant
protein in the animals ?

(@) Collagen

(2) Lectin

3) Insulin

(4)  Haemoglobin

If the distance between two consecutive base pairs
is 0.34 nm and the total number of base pairs of a
DNA double helix in a typical mammalian cell is
6.6x 109 bp, then the length of the DNA is
approximately :

(1) 2.5meters
2) 2.2 meters
3)  2.7meters
(@Y 2.0 meters

The first phase of translation is :

(1) Recognition of DNA molecule
(2)  Aminoacylation of tRNA

(3)  Recognition of an anti-codon
(4)  Binding of mRNA to ribosome

Which of the following hormone levels will cause
release of ovum (ovulation) from the graffian
follicle ?

(1)  High concentration of Progesterone
(2) Low concentration of LH

3)  Low concentration of FSH

(4)  High concentration of Estrogen

Flippers of Penguins and Dolphins are examples
of :

(@) Convergent evolution
(2)  Industrial melanism
(3)  Natural selection

(4)  Adaptive radiation
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S T St ABO 3o 9 a1 =101 st & Sdeh gaed

T ITAd T hl TEaIT |

1) T Afw B dT T A et < el 2|
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() 4 Uela s off RT3 TE |

@ S 1) % i Uedte gid €
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(1)  goTeh, A, SHfe 9k

@)  AIDS, Tl SRl

() &, AIDS, faftrfera
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86.

87.

88.

89.

Identify the wrong statement with reference to
the gene T that controls ABO blood groups.
@

A person will have only two of the three

alleles.

(2) WhenIA and IB are present together, they
express same type of sugar.

3)  Allele 7 does not produce any sugar.

(4)  The gene (I) has three alleles.

Select the option including all sexually transmitted
diseases.

(1)  Gonorrhoea, Malaria, Genital herpes
(2)  AIDS, Malaria, Filaria
@3)  Cancer, AIDS, Syphilis
(4 Gonorrhoea, Syphilis, Genital herpes

Match the following columns and select the
correct option.

Column -1 Column - 11

(a)  Eosinophils @ Immune response

(b)  Basophils @)  Phagocytosis

(c) Neutrophils @iii)) Release
histaminase,
destructive
enzymes

(d) Lymphocytes (v) Release granules
containing
histamine

@ (M) @© @

o o @ @ @

@ O @@ ) @@

¢ @ @ @ @)

@ @ @) @ O

Match the trophic levels with their correct species
examples in grassland ecosystem.

(@  Fourth trophiclevel @ Crow
(b)  Second trophiclevel @)  Vulture
(c) First trophic level (i) Rabbit
(d)  Third trophiclevel @iv) Grass
Select the correct option :

@ ®m @© @
» @ W O )
@ v @ @ O
@ O @ @ )
@ @ @@ @ O
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G1
In light reaction, plastoquinone facilitates the
transfer of electrons from :
(1)  Cytbgf complex to PS-I
2 PS-ItoNADP™*
3)  PS-I1to ATP synthase
4  PS-IIto Cytbgf complex

Embryological support for evolution was
disapproved by :

(1)  Alfred Wallace

2 Charles Darwin

(3)  Oparin

4  Karl Ernst von Baer

Bilaterally symmetrical and acoelomate animals
are exemplified by :

(1)  Platyhelminthes
(2)  Aschelminthes
(3)  Annelida

4 Ctenophora

Which of the following would help in prevention of
diuresis ?

(1)  Reabsorption of Na*t and water from renal
tubules due to aldosterone

(2) Atrial natriuretic
vasoconstriction

factor causes

(8)  Decrease in secretion of renin by JG cells

4  More water reabsorption due to
undersecretion of ADH

Match the following columns and select the
correct option.

Column -1 Column - 11

@ Clostridium @ Cyclosporin-A
butylicum

(b) Trichoderma @)  Butyric Acid
polysporum

(¢  Monascus (i) Citric Acid
purpureus

(d)  Aspergillusniger (iv) Blood cholesterol

lowering agent

@ () @© @
@ O G @@
@ O @ @) @@
@ v @ @ @
@ @ ) @ @
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Some dividing cells exit the cell cycle and enter
vegetative inactive stage. Thisis called quiescent
stage (Gg). This process occurs at the end of :

(1  Gyphase
(2)  Sphase

3)  Ggyphase
4  Mphase

In which of the following techniques, the embryos
are transferred to assist those females who cannot
conceive ?

(1) GIFT and ZIFT
©@  ICSIandZIFT
() GIFT and ICSI
()  ZIFT and IUT

Which of the following statements are true for
the phylum-Chordata ?

(@ In Urochordata notochord extends from
head to tail and it is present throughout
their life.

()  InVertebrata notochord is present during
the embryonic period only.

(¢ Central nervous system is dorsal and

hollow.

(d) Chordata is divided into 3 subphyla :
Hemichordata, Tunicata and
Cephalochordata.

®»  (9and(a)
@  (a)and(b)
@  (b)and(c)
@ (Dand(c)

Snow-blindness in Antarctic region is due to :

(1) Inflammation of cornea due to high dose of
UV-Bradiation

(2)  High reflection of light from snow
(3) Damage toretina caused by infra-red rays

4  Freezing of fluids in the eye by low
temperature



Hindi+English

99.

100.

101.

102.

=1 i =1 T o | faeed =1 =31 U |

wWy-1 WY - 11

@  IRE Uy G T A

b) IS UMY G) srfed Afeed

©  sifugers Uy (i) SEfeRNS

ERSURES]

d TRERE (v) TEEA T
@ (®m © @

® G G 6 G

@ G @ Gv) @)

@ @ @O @) aG)

@ Gv @) @O @

fr=fafed 5 9 9 W HeT T@ 8 ?

(1) UfedM T H-9Y9 o g 9=HA & 91 I
ERIGIES

) Uled I H-9¥9 o g1 U=HA o W19 I
RIS

@) e, g % @y I T S|

@ Tfed < H-d9 % gN aEHE 6 WY i

EEICIES

Afard dedi 2R redi | 37k it o fova | fafafad

I gAferd wifey

@ % G IcT T YR SIS

ONRECY (i) TR BT

© 9rA (i) AR & Sid GIAT
o fou st

@ T (v) STETT Sd GIIT0

Hﬁﬁwgﬁq:

@ () © @

@O Gv @ @ @

@ @ @) @ @

@ v @O @ 3Gi)

@ G @ Gy (i)

frafafaa § @ &9t s ggita R w0 amen
Frrerss vered e © 2

(1) Ui 3

@ frifas st

@  HU-UwRifeE oA

@ foafaes st

23

99.

100.

101.

102.

G1

Match the following columns and select the
correct option.

Column -1 Column -1I
(@  Pituitary gland (@) Grave’s disease
(o)  Thyroid gland @11)  Diabetes mellitus
(0 Adrenal gland @i) Diabetes insipidus

(d)  Pancreas @iv) Addison’s disease
@ () @@ @

O @ @ o

@ @@ O @ @

@ @ O @ @)

@ @ @ O @

Which of the following statements is correct ?

(1)  Adenine pairs with thymine through one
H-bond.

(2)  Adenine pairs with thymine through three
H-bonds.

(3) Adenine does not pair with thymine.

(4)  Adenine pairs with thymine through two
H-bonds.

Match the following concerning essential elements
and their functions in plants :

(@  Iron @ Photolysis of water

() Zinc (1))  Pollen germination

(© Boron (i) Required for chlorophyll
biosynthesis

(d Manganese (iv) IAAbiosynthesis
Select the correct option :
@ ® @© @
O W w @ O
@ @ @ @ O
@ w O @ @
@ @ ©O G @)

Which of the following is not an inhibitory
substance governing seed dormancy ?

(1)  Abscisicacid
(2)  Phenolicacid
(3)  Para-ascorbicacid

4)  Gibberellicacid
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From his experiments, S.L. Miller produced amino
acids by mixing the following in a closed flask :

(1) CHj, Hy, NH, and water vapor at 800°C
2  CH, Hy, NHj and water vapor at 600°C
(3) CHj, Hy, NHj and water vapor at 600°C
4  CH, H,, NHj and water vapor at 800°C

Experimental verification of the chromosomal
theory of inheritance was done by :

(1)  Sutton
(2) Boveri
3) Morgan
4  Mendel

The body of the ovule is fused within the funicle
at :

(1)  Micropyle
(2)  Nucellus
(3)  Chalaza
4  Hilum

Identify the correct statement with reference to
human digestive system.

(1) Serosa is the innermost layer of the
alimentary canal.

(2)  Ileum is a highly coiled part.

@3)  Vermiform appendix arises from duodenum.

4  Ileum opens into small intestine.

Dissolution of the synaptonemal complex occurs
during :

@ Zygotene
(2)  Diplotene
(3)  Leptotene
(4  Pachytene

Floridean starch has structure similar to :

(1)  Amylopectin and glycogen
(2)  Mannitol and algin
3) Laminarin and cellulose

Starch and cellulose

@
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1) 5'-GGAACC-3'
3'- CCTTGG - 5'
@) 5'-CTTAAG - 3'
3'- GAATTC - 5'
(3) 5'-GGATCC-3'
3'- CCTAGG - 5'
@  5'-GAATTC-3'
3'- CTTAAG - 5'
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The specific palindromic sequence which is
recognized by EcoRlI is :

1 5-GGAACC-3
3'- CCTTGG - 5'
@2 5 -CTTAAG-3
3'- GAATTC - 5'
3 5-GGATCC-3
3'- CCTAGG - 5'
4 5 -GAATTC-3
3'- CTTAAG - 5'
Select the correct match.
(1)  Phenylketonuria Autosomal
dominant trait
(2)  Sickle cell anaemia -  Autosomal
recessive trait,
chromosome-11
3) Thalassemia Xlinked
(4  Haemophilia Y linked

Identify the substances having glycosidic bond and
peptide bond, respectively in their structure :

(1)  Glycerol, trypsin

2 Cellulose, lecithin

(3)  Inulin, insulin

4 Chitin, cholesterol

The process of growth is maximum during :
(1) Lagphase

(2)  Senescence

(8)  Dormancy

4)  Logphase

Match the following columns and select the
correct option.

Column -1 Column -11

(@  Organ of Corti @ Connects middle
ear and pharynx

()  Cochlea @)  Coiled part of the
labyrinth

(© Eustachian tube (i) Attached to the
oval window

(d)  Stapes (iv) Located on the
basilar
membrane

@ () ©@ @

O @ @O G @

@ @ @ @O @

@ O @ G) @)

@ @ @ @O @)
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The process responsible for facilitating loss of water
in liquid form from the tip of grass blades at night
and in early morning is :

(1)  Root pressure
(2)  Imbibition

(3)  Plasmolysis
(4  Transpiration

Identify the wrong statement with reference to
immunity.

(1)  When ready-made antibodies are directly
given, it is called “Passive immunity”.

(2)  Active immunity is quick and gives full
response.

(3) Foetus receives some antibodies from
mother, it is an example for passive
immunity.

(4  When exposed to antigen (living or dead)

antibodies are produced in the host’s body.
It is called “Active immunity”.

In water hyacinth and water lily, pollination takes
place by :

(1)  water currents only
(2) wind and water

(3)  insects and water
(4)  insects or wind

Which is the important site of formation of
glycoproteins and glycolipids in eukaryotic cells ?

(1)  Peroxisomes

(2)  Golgibodies

3)  Polysomes

4)  Endoplasmicreticulum

Which of the following regions of the globe exhibits
highest species diversity ?

(1) Madagascar

(2) Himalayas

3)  Amazon forests

4  Western Ghats of India

Goblet cells of alimentary canal are modified
from :

(1)  Columnar epithelial cells
2)  Chondrocytes

(3)  Compound epithelial cells
4  Squamous epithelial cells
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120. Which of the following is correct about viroids ?

121.

122.

123.

124.

@)
2
®3)
)

They have free RNA without protein coat.
They have DNA with protein coat.

They have free DNA without protein coat.
They have RNA with protein coat.

Secondary metabolites such as nicotine, strychnine
and caffeine are produced by plants for their :

@)
@)
®3)
@)

Growth response
Defence action
Effect on reproduction

Nutritive value

Match the following columns and select the
correct option.

Column -1 Column -1I

(@ Placenta @ Androgens
()  Zonapellucida @)  Human Chorionic
Gonadotropin
(hCG)
(© Bulbo-urethral @i) Layer of the ovum
glands
(d) Leydigcells (iv)  Lubrication of the
Penis
@ @ @© @
O O @ @ @)
@ @ @ G O
@ @ @ G O
@ v @ O @
Ray florets have :
(1)  Superior ovary
2 Hypogynous ovary
(3)  Halfinferior ovary
4)  Inferior ovary

Which of the following is put into Anaerobic sludge
digester for further sewage treatment ?

@)
2
®3)
@)

Floating debris
Effluents of primary treatment
Activated sludge

Primary sludge
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The enzyme enterokinase helps in conversion of :

@®
@
®)
@

trypsinogen into trypsin
caseinogen into casein
pepsinogen into pepsin

protein into polypeptides

Match the following columns and select the
correct option.

@

(b)

©
@)

@®
@
®)
@

Column -1 Column - II

Gregarious, polyphagous (i) Asterias
pest
Adult with radial @)  Scorpion

symmetry and larva
with bilateral symmetry

Book lungs (1) Ctenoplana
Bioluminescence @iv) Locusta
@ b @© @

vy O @ @)

@ @@ @O @)

@ O @ )

@ @ @ @)

Presence of which of the following conditions in
urine are indicative of Diabetes Mellitus ?

@®
@
®)
@

Uremia and Renal Calculi
Ketonuria and Glycosuria
Renal calculi and Hyperglycaemia

Uremia and Ketonuria

Match the following columns and select the
correct option.

@

(b)

©
@)

@®
@
®)
@

Column -1 Column - 11

Floating Ribs @ Located between
second and
seventh ribs

Acromion @) Headofthe
Humerus

Scapula (i) Clavicle

Glenoid cavity (iv) Do not connect
with the sternum

@ (M) @© @

@O @ @ @)

@ @ @) @

v) @ @ @

@ @ @O @
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How many true breeding pea plant varieties did
Mendel select as pairs, which were similar except
in one character with contrasting traits ?

® 2
@ 14
3 8
@

If the head of cockroach is removed, it may live for
few days because :

(1)  the cockroach does not have nervous system.

(2)  thehead holds a small proportion of a nervous
system while the rest is situated along the
ventral part of its body.

(3)  the head holds a 1/3'4 of a nervous system
while the rest is situated along the dorsal
part of its body.

4)  the supra-oesophageal ganglia of the

cockroach are situated in ventral part of
abdomen.

Which of the following refer to correct example(s)
of organisms which have evolved due to changes
in environment brought about by anthropogenic
action ?

(@ Darwin’s Finches of Galapagos islands.

(o)  Herbicide resistant weeds.

(0  Drugresistant eukaryotes.

(d  Man-created breeds of domesticated animals
like dogs.

1) (a)and(c)

@  (b), (c)and (d)

3)  only(d)

4) only(a)

Identify the basic amino acid from the following.

(1)  Glutamic Acid
(2) Lysine

(3)  Valine

4 Tyrosine

In gel electrophoresis, separated DNA fragments
can be visualized with the help of :

(1)  Ethidium bromide in UV radiation

(2)  Acetocarmine in UV radiation

3)  Ethidium bromide in infrared radiation
(4)  Acetocarmine in bright blue light
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136.

137.

138.

Teh dd H TE™ SLUAE ohi Hfd &I & hl

3 S ATt 3TshH h1 ST el Tl & 2

1) @

@  Ueligihen s

@ RerERA (eeum) s

4) T AR

TH o TR § Icu= B STelt STSi ohl 91 gl T ¢ 2
1 wafEE g

@ S S

@  Id S

4  FhSISg

Cr2+ % ToTu, horet T=rsh Ul Gkl TTEUl o1 URekferd
TR

1) 4.90BM
©@  5.92BM
(3) 2.84BM
“4) 3.87BM

fetferiam 1 e FITT 2iv e forsed T |

(@  CO(g)+Hy(g) @®  MgHCO;3),+
Ca(HCO,),

(b) A I SEYER i) TR goIeA
HIAT HESIES]

© ByHg (i)  EEer 9

@  HyO, (iv) STgHdE GLE
@ ® © @

o @ @ @ @iv)

@ @) @) @ @

3 O @) G @Gv)

@ @) @ i @)

g8 fago s Teee 9w @ yareass foaeq wefdia
W?‘IT%,%:

1) S+ 2T
)  UHRH+ FARI%H
(3)  TAREIH + e

(4) TYIH+ THRH

134.

135.

136.

137.

138.
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The sequence that controls the copy number of the
linked DNA in the vector, is termed :

1)  Orisite
(2)  Palindromic sequence
)  Recognition site

(4)  Selectable marker

The roots that originate from the base of the stem
are :

(1)  Primary roots
2 Prop roots

(3)  Lateralroots
(4)  Fibrousroots

The calculated spin only magnetic moment of Cr2+
onis:

(1) 4.90BM
©@  5.92BM
(B) 2.84BM
4  3.87BM

Match the following and identify the correct
option.

(@  CO(g)+Hy(e) @  MgHCOy),+
Ca(HCOgy),

(b)  Temporary (1) Anelectron
hardness of deficient hydride
water

(c) ByHg (1)) Synthesis gas

d)  HyO4 @v) Non-planar

structure

@ (M) © @

®» @ @ o W
@ @ G @ O

@ O @ @@
@ @ O @

The mixture which shows positive deviation from
Raoult’s law is :

@ Benzene + Toluene

(2)  Acetone + Chloroform

(3)  Chloroethane + Bromoethane
(4)  Ethanol+ Acetone
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139.

140.

141.

142.

143.

fr=fafea § @ 9@ Fu= wg=nte

(1)  TPRRRER i@, CO,, % o % HR0 HHIER
T R

@ Tiha & fore o grereen e 9 s fafy
BRI T ST B

(@) F= AR o fafae STl § <ren S gehar § 1

)  Toaeal et 4% e ol TS el Bl 2 |

IR S < W FAfhan 5] A oA § i fosfed
I B a1 €1 & B &l Cu2* (Sefd) & TN
S ], a9 C T TR et 1 1 faere e g B

freafafed dq cCH g FNR?
(1) [Cu(NHy),%+

@2  Cu(OH),

3)  CuCO,Cu(OH),

4  CuSO,

HehIY 1 Sel-3Tqe1eA ffataa sfafsean gra fean
SR

GohIE + H, 0 = Te[ehIH + e
Al 300 K W | feemish (K,) 2x 1013 &, <1 34t
A WA GO 1 HH BT
(1) 8.314Jmol K~ 1x 300K xIn(2x 1013)
@) 8.314Jmol K ~1x 300K xIn(3x 1013)
(3) —8.314Jmol K~ 1x 300K xIn(4x 1013)
4  —8.314Jmol 1K~ 1x 300K x1In(2x1013)
SFfaa gHe sl e |

T TSI, W. U, ferehe a0
@ st G  Hedifamm
b) SHHEIH i) —EREIH
©  Aferfegam (i) drenfiem
d  SHEE (v) sHREfeH
@ (), ()
@ (o), ()
@ (@), Gv)
@  (a),®

frefafad § 9 ®F-91 T grE THAT 37 § 2

1) e

@  TEEE
@) WA

@ o=
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Identify the correct statement from the following :

@)

Blister copper has blistered appearance due

to evolution of CO,.

(2)  Vapour phase refining is carried out for
Nickel by Van Arkel method.

(3)  Pigiron can be moulded into a variety of
shapes.

4  Wrought iron is impure iron with

4% carbon.

Urea reacts with water to form A which will
decompose to form B. B when passed through
CuZt (aq), deep blue colour solution C is formed.
What is the formula of C from the following ?

(1) [CuNHy) 2+
@  Cu(OH),

3) CuCO4-Cu(OH),
@  CuSO,

Hydrolysis of sucrose is given by the following
reaction.

Sucrose + H,0 = Glucose + Fructose

If the equilibrium constant (K,) is 2x 1013 at
300 K, the value of A G® at the same temperature
will be :

1) 8.314Jmol 1K~ 1x 300K x1In(2x 1013)
@) 8.314Jmol 1K~ 1x 300K xIn(3x 1013)
(3) —8.314Jmol 1K~1x300K xIn(4 x 1013)
(4 —8.314Jmol 1K~ 1x300K xIn(2x 1013)

Identify the incorrect match.

Name TUPAC Official Name

(@  Unnilunium @ Mendelevium
()  Unniltrium @) Lawrencium

(© Unnilhexium (i)  Seaborgium

(d  Unununnium @v) Darmstadtium
®» (b)), ()

@ (o), (i)

@ (), @)

@ (.0

Which of the following is a basic amino acid ?

(1)  Alanine
2) Tyrosine
3) Lysine
(4)  Serine
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144.

145.

146.

147.

148.

149.

Trafafaa sifyufsran o eq &t i Te o
1 gfterd B & ?
CH,,(g) + 4Cly(g) — CCl,() + 4HCl(g)

1 0¥ +4

@2 —49 +4

3 09 -4

4 +49 +4

Yohl Tl 3T952H T T ©
1)  o-D-THE+ B-D-ThE
@  o-D-THE + B-D-FRH
()  «D-BRE+p-D-THR™
4)  B-D-TTRM + -D-FRH

Tferd CaCly, § 20 g HIcRIEH W< i o T Seesh
THE(F) ! HET B,
(Ca %1 IXHTT] SHHM = 40 UTH/HIE)

® 2

@ 3

B 4

@ 1

stfufsa, 2C1(g) — Cly(g), % fore Sfer foskea #
1) AH>03RAS<0

@ AH<03RAS>0

® AH<03RAS<O0

@ AH>03RAS>0

frefafad g o1 e TseHi b1 |fshfad Far s,
T o SATRHRTT § ATP & 3 H 3R Na &

1y 3 Hehdl o HeRor & foie St ®

(1)  die (SR)

@  hiceEw

() defEm

@ A

TEAd hYH Tl TEaIT |

(1) TR gy SIR Sk ATk SRl og SR
STIEATT Sl TGUT X 1 &THT oh HIRUT ST
fgharan IR Heper fmior 3 forg i 5 €

@  SiaeRT AR 9 B € S gl & fohed
SeTehi o IR BIS SR Tt TTHTI[S SI9 H,
CAIN T HEH (3U) Wad § |

3) I &, cro?” 3R Cr,02 # U=
e, T Tl g1

@) 5 H, Cr2t(d?), Fe2t(d% ¥ 3ifus yaa
ATEFH T |
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What is the change in oxidation number of carbon
in the following reaction ?

CH,(g) +4Cl,(g) — CCl,(1) + 4HCI(g)

1 Oto+4
@) —4to+4
3 Oto—4
)  +4to+4

Sucrose on hydrolysis gives :

1)  a-D-Glucose + B-D-Glucose
@)  a-D-Glucose + B-D-Fructose
3)  a-D-Fructose + B-D-Fructose
4  B-D-Glucose + a-D-Fructose

The number of Faradays(F) required to produce
20 g of calcium from molten CaCl, (Atomic mass
of Ca=40 g mol~1)is:

@ 2
@ 3
e 4
@ 1

For the reaction, 2Cl(g) — Cl,(g), the correct
optionis:

1 AH>0andAS<0
2 AH<O0andAS>0
3 AH<O0andAS<0
4 AH>0andAS>0

The following metal ion activates many enzymes,
participates in the oxidation of glucose to produce
ATP and with Na, is responsible for the
transmission of nerve signals.

1)  Copper

2) Calcium
3)  Potassium
4  Iron

Identify the incorrect statement.
(1)  The transition metals and their compounds
are known for their catalytic activity due to
their ability to adopt multiple oxidation
states and to form complexes.

(2) Interstitial compounds are those that are
formed when small atoms like H, C or N
are trapped inside the crystal lattices of

metals.

)  The oxidation states of chromium in Croi_
and CrZO%_ are not the same.

Cr2+(d%) is a stronger reducing agent than
Fe2* (d%) in water.

@
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150.

151.

152.

153.

154.

155.

fondit atfyfonan o SAfRRER! ot Tigal § gfg | TRex
BT

(1) srfufsran &t s H

@) gl et |

@ "o st

(@)  Afsrgor et °

TifeeREe SR UHRIHHM ot 0 NaOH i Sufeafd
Y Affsran 39 YR ST S ©

1) = etfufewan

@) e hiTeR eAfufsean

(3 I Tl Ho

4) ULt HeE

freifafad & | frds ®RO T qaras fed
FEEARA T fgdftas Ffed wEiEARE 9 1w
TR B R ?

(1) —CH,Eq&I % + R Y4E o HRU

2  —CH;9q8l % — R Y& & HRUI

@  stfEgE

@  —CH, 998l % — I Y9d o HRU

Ni(OH), %l 0.1 M NaOH ¥ faeiaan 3 shifsie |
fean ® fF Ni(OH), &1 SR UM%a 2 10~ 15§ |
1 2x10~8M

@ 1x10-13M

3) 1x108M

@ 2x10-13M

TeaY foh BH-T 379] o1 fdea &l 1

(1) Ly
@ Gy
@ O,
4)  He,

2-SHI-U=HA § U2-2-3 o ol faairds Afafehar :
@ p-foeioT sfufwan &

b)) S e o are i §

© ﬁ%ﬁ@%’?ﬁﬁ:ﬁw aAffsran §

@  fastefreo sifafsren &

D (@),(),

@ (), (),

3 (@, b))
@ (a),(0),@©
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An increase in the concentration of the reactants
of a reaction leads to change in :

(1)  heatofreaction
(2)  threshold energy
(38)  collision frequency

(4  activation energy

Reaction between benzaldehyde and acetophenone
in presence of dilute NaOH is known as :

(1)  Cannizzaro’s reaction

2 Cross Cannizzaro’s reaction
3) Cross Aldol condensation

(4  Aldol condensation

A tertiary butyl carbocation is more stable than a
secondary butyl carbocation because of which of
the following ?

@) + R effect of — CH4 groups

2 — R effect of — CH4 groups
(3)  Hyperconjugation
(€)) — I effect of — CH4 groups

Find out the solubility of Ni(OH), in 0.1 M NaOH.
Given that the ionic product of Ni(OH), is
2x10715,

1) 2x10-8M
@ 1x10-13M
@ 1x108M

@ 2x10-13M

Identify a molecule which does not exist.

1) Li,
@ C
@ O,
4)  He,

Elimination reaction of 2-Bromo-pentane to form
pent-2-eneis:

(@) B-Elimination reaction

(b)  Follows Zaitsev rule

(© Dehydrohalogenation reaction
(d  Dehydration reaction

® (@), @, d)

@ (b)), (d)

@) (), ),

@  (a),(b),(©
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156.

157.

158.

159.

160.

Sfer favwa &1 |1 watse! faeem & g ot &
frefcor #f Swah €ar € 2

1  foema

(2)  HIcAES! FUN i faerd
(3)  ThHICISS! Il o1 SAHY
@)

' Lu H Wi, Fe oIk e i W, e
g

(1) 104,71 3R 71

@ 71,713 104

(3) 175,104 3R 71

@ 71,104 3R 71

frefafeaa o 9 sfaa swem weef

@  COy(g) I TeHsHM 3R feweiifad @ % ferg
W9ider o &9 § SN feha S 21

b)  Cgo I TLE H, IRE B: Ha g 3R o
e e od B © |

©  ZSM-5, Tsh YR 1 Toielicmee § S Ueshigial
=l T § ®9iald s | ST fean s
gl

@  CO TEF IR TodH 19 7

(1) e (a) 3R ()

@ e (b) 3 ()

3 e (o) 3R (d)

@ e (a), (b) ¥R (c)

Teh acd i 288 pm Hdl TR ATCl hIT higd AT
GLAT €, ] e €

1) % X 288 pm

4 288 pm
) NG p
3) % X 288 pm
@) @ X 288 pm
TS UG, IR &
(1)  faures auicifEest &t
(2) Udel A Foiif@e! 1
(3) WY guicifgehl
(@) AT FuicifEent
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Measuring Zeta potential is useful in determining
which property of colloidal solution ?

(1)  Solubility

(2)  Stability of the colloidal particles
(3)  Size of the colloidal particles

(4  Viscosity

The number of protons, neutrons and electrons in

175 .
71Liu, respectively, are :

(1) 104,71and71
@  71,71and 104
(3) 175,104 and 71
@  71,104and 71

Identify the correct statements from the
following :

(@  COgy(g) is used as refrigerant for ice-cream
and frozen food.

(b)  The structure of Cg, contains twelve six
carbon rings and twenty five carbon rings.

(c) ZSM-5, a type of zeolite, is used to convert
alcohols into gasoline.

(d)  COiscolorless and odourless gas.

1)  (a)and (c) only

©2)  (b)and (c) only

B) (c)and (d) only

4  (a), (b)and (c) only

An element has a body centered cubic (bcc)

structure with a cell edge of 288 pm. The atomic

radiusis:

1) g X 288 pm
4

5 L x 288 pm

® 3

4 ? X 288 pm

Paper chromatography is an example of :

@®

Partition chromatography

(2)  Thin layer chromatography
@3)  Column chromatography
(4  Adsorption chromatography
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161.

162.

163.

164.

165.

Frfafead o 9 gew o fohg stiaisma d —0 -0 —
ECER

1)  HySO,, e 3

2 HyS,04, WSTRIISEHTH [ A

@) HyS,0,, TEIHTHH 377

@  HySO,, GeHH 3w

Jgqyq Hife &1 Tk Tfufean & faw am feeris

4.606x 1035~ 1% SANFRF F2.0 gH10.2 g TH
T H SEvTs I T

1) 200s

@ 500s

(3) 1000s

@4 100s

frafafaa § 4 FF-9 (e g8 stfafsean gra

3Tt afey | & o8 ST Wehelt 2

1)  2,3-cEHfuEse

@ neeA

®  nFHA

@) n-FRA

frfafaa =1 gafaa s
JATFAZE ehfd

@ CO G g

®) BaO i) S

©  AlyO,4 (i)  3TA

@ CLO; Gv) SYIHH

frfafaa § 9 wH-1 T fashed 2
@ Mm @© @

» @ @O @) @)

@ @ v @O @

@ G @) @ 0

@ @O @ @ (@)

e fafdet § N, 3R Ar 61 & w fago § N, &
7g R Ar % 8 g ¥ afe fafdsy & 714 & fagor
%l T 27 bar B, 1 N, 1 3if¥rh T ¥,

[IRATY] SHMI (g mol ~ 1 H) : N=14, Ar = 40 ST
ife]

(@) 12 bar
2 15 bar
3) 18 bar
4  9bar

161.
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Which of the following oxoacid of sulphur has
—0—-0- linkage?

(1  HySO,, sulphuric acid

(2  HyS,0g, peroxodisulphuric acid
3)  HyS,0,, pyrosulphuric acid

4  HySOg, sulphurous acid

The rate constant for a first order reaction is
4.606x10~3 s~1. The time required to reduce
2.0 g of the reactant to 0.2 g is :

1) 200s
@ 500s
3) 1000s
4 100s

Which of the following alkane cannot be made in
good yield by Wurtz reaction ?

(1)  2,3-Dimethylbutane
(2) n-Heptane
(3) n-Butane

(4)  n-Hexane

Match the following :
Oxide Nature

@ CO (i)  Basic

(b) BaO @) Neutral

(©  Aly,O4 @) Acidic

(d) CL,0, @v) Amphoteric

Which of the following is correct option ?
@ () ©@ @

o @ @O @ @

@ @ @ o @

@  Gv) @ @ @

@ O @ @ G

A mixture of Ny and Ar gases in a cylinder contains
7gof Ny and 8 g of Ar. If the total pressure of the
mixture of the gases in the cylinder is 27 bar, the
partial pressure of N, is :

[Use atomic masses (in g mol ~ 1) : N=14, Ar=40]

1) 12bar
) 15 bar
3) 18 bar

4  9bar



G1

166.
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168.

Teh et SIS ad gR T ScuTs o ®9 § AdHe
é?ﬁ%l WW%

@®

CH,-CH=CH,

@

CH,CH,CH,

®3)

CH=CH-CH,

@

St o1 fewish etaeA feerieh (K 5.12 K kg mol !
T =9 H U fagg- e foea 91 0.078 m
Hiereran sl foeem &1 ferie s/ (] Semea
TqH| qk fAefeq), ® :

1) 0.80K

@ 0.40K

3 0.60K

4 020K

forddt eTreet T o Tgren ufkfRefa ® gaa woro & fau
St fasreq © -

1) q=0,AT<03Rw>0
@ q<0,AT=03Rw=0
3) q>0,AT>03Rw>0
4 q=0,AT=03Rw=0
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An alkene on ozonolysis gives methanal as one of

the product. Its structure is :

@®

e

CH,—CH=CH,

@

-

CH,CH,CH,

®)

-

CH=CH-CH,4

@

-

The freezing point depression constant (K of
benzene is 5.12 K kg mol ~ 1. The freezing point
depression for the solution of molality 0.078 m
containing a non-electrolyte solute in benzene is
(rounded off upto two decimal places) :

1 0.80K
@ 040K
3 060K
@ 020K

The correct option for free expansion of an ideal
gas under adiabatic condition is :

1 q=0,AT<0andw>0
2 q<0,AT=0andw=0
B q>0,AT>0andw=>0
4 q=0,AT=0andw=0
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169. Tr=fafad 4 9 frad wamEd =t gen st
Bt ?
(1) Mg(s) T 1 g [Mg =T GTHIY GTH = 24]
2 Oy(g) ™l 1 g [O 1 LAY FHHM = 16]
() Li(s) 1 1 g [Li 31 9T SHAH = 7]
@ Ag(s) 1 1 g [Ag T TLHY FHHH = 108]

170.

sfufsanet & frefafeaa 9 9 X difrs &1
‘E?lTﬁ'Q:

CH, CHO
Cly/hv _ H,0
—_— s X—
373 K

CH,CI
CHCI,
CCly,
cl

37
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G1
169. Which one of the followings has maximum number
of atoms ?
D 1 g of Mg(s) [Atomic mass of Mg = 24]
2 1 g of Oy(g) [Atomic mass of O=16]
3) 1 g of Li(s) [Atomic mass of Li= 7]
4)  1gofAg(s) [Atomic mass of Ag=108]
Identify compound X in the following sequence of
reactions :
CHg4 CHO
——>X—
373 K
CH,Cl
0 ©
CHCl,
© ij
CClg
Cl
@ ©
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173.

174.

Tr=fafea § 9, g st o 9 m & fag dafat
Y ST & FeIeTdT 1 hIF-T1 & hH € 2

(1) SCN™ <F~ <CN~ <(C,0f
@  F <SCN™ <(Cy02 <CN~
() CN™ <(Cy0% <SCN™ <F~
4  SCN™ <F~ <(C,07 <CN~

frfafed § & HH-91 T Whfae gk § 2

(1) i (e RE)

@ e

@)  ifel (HereEA-UshalrEerEd)
@)  gE1,4-dfasTEEd=

frafafeaa § 3 et & fa aq=a &1 3 5y
3reof B € 2

1) IR TERISNEE, TGS FGREE, He
TRAFERS, 1,3- SRR

@  ESH TEFRRRES, dRferm SrrRgeiNss,
I, 1,3-SEaARIES

() IRAERIHARES, IRfTTH SERIARTEE, HieH
TRATFERS, 1,4-SEFAES

@ emifran, Aftfaan SEwRsTiEs, 9d,

1,4-STEFARSSI

HC1 &1 CaCly, MgCl, 3R NaCl & faeed § =
T | frfafed #§ 9 wR-9/en-4 9ifies hefad

FHET?

(1) el NaCl

@  %ad MgCl,

3  NaCl, MgCl, 3iR CaCl,
4  MgCl, 3R CaCl, 3H

38
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Which of the following is the correct order of
increasing field strength of ligands to form

coordination compounds ?

(1) SCN™ <F~ <CN~ <(,0%
@ F <SCN™ <(Cy,0f <CN~
(B0 CN” <(Cy0; <SCN™ <F~
@ SCN™ <F~ <(C,0% <CN~

Which of the following is a natural polymer ?

(1)  poly (Butadiene-styrene)

(2)  polybutadiene

(3)  poly (Butadiene-acrylonitrile)
4  cis-1,4-polyisoprene

Which of the following set of molecules will have
zero dipole moment ?

(1)  Boron trifluoride, hydrogen fluoride, carbon
dioxide, 1,3-dichlorobenzene

(2)  Nitrogen trifluoride, beryllium difluoride,
water, 1,3-dichlorobenzene

3) Boron trifluoride, beryllium difluoride,
carbon dioxide, 1,4-dichlorobenzene

4  Ammonia, beryllium difluoride, water,

1,4-dichlorobenzene

HCl was passed through a solution of CaCl,, MgCl,,
and NaCl. Which of the following compound(s)
crystallise(s) ?

(1) OnlyNaCl

2) Only MgCl,

3)  NaCl, MgCl, and CaCl,
4)  Both MgCl,; and CaCl,
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175. fr=fafgd § 9 SF-91 Sed AFeEEs & fau @@t | 175, Which of the following is not correct about carbon

T2 monoxide ?

1) T TR e g A AT (1)  Itreducesoxygen carrying ability of blood.
. (2) The carboxyhaemoglobin (haemoglobin

2 e (CO ¥ sfyd Hralfa), bound to CO) is less stable than

TSRS CIfe § ST BT € | oxyhaemoglobin.
(3) T8 34111]]‘ T o SR 3¢9 Bl B 3)  Itisproduced due to incomplete combustion.
) e FEFRETAE S S| 4 It forms carboxyhaemoglobin.
176, UfFETel HI % §rel forser g S @ : 176. Anisole on cleavage with HI gives :

{}H

) +CH,0H M +CH,OH
OH OH

@ ©+02H51 @ ©+CZH5I
i I

®) © +CyH;0H 3) i) 1 C,H.OH
o OH

@ +CH,l

3 4
© @ +CH,I
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177. Tr=fafad § 9 -4 T et wdeyor < ?

178.

NHCH,
@

N(CH,),
@

NHC,H;
®3)

NH,
@

UM 3R Aforeri=ifeem Fegs @ stfufswan iR
THLEN STel-3TTee § I 8T

) fadrrs wifedt tewrta
@ g SHfed Tehiaial
(@)  eTEEfed TR
(4)  STEEHIT TewhTeict
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177. Which of the following amine will give the

178.

carbylamine test ?

NHCH,
N(CH,),
NHC,H;
NH,,

Reaction between acetone and methylmagnesium
chloride followed by hydrolysis will give :

(1)  Sec.butyl alcohol
(2)  Tert. butyl alcohol
(3)  Isobutyl alcohol

4  Isopropylalcohol
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179. @IfETH (Pt) THIRIE I IR Hd §Y a7 TR
3TFE o A 7T W, TAlS TR 9T SedTe Bl

180.

@)
@
®3)
@)

Trefefad § @ SiH-91 SFRAT SA9HSi § 2

@)
@)
®3)
@)

CIEsiEERIE
H,S 4
SO, 1|
TG 9

Hifea fete

i SHIMEH SHES
Hifead Srefaeta=i Fehie
Hifgem g Hethe

-00o0-
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179. On electrolysis of dil.sulphuric acid using
Platinum (Pt) electrode, the product obtained at
anode will be :

180.

@)
2
®3)
@)

Oxygen gas
H,S gas
SO, gas

Hydrogen gas

Which of the following is a cationic detergent ?

@)
@
®3)
)

Sodium stearate
Cetyltrimethyl ammonium bromide
Sodium dodecylbenzene sulphonate

Sodium lauryl sulphate

-00o0-



G1

42
T @h1d o fAT S8 / Space For Rough Work

Hindi+English



Hindi+English

43
T &1 & 1T S8 / Space For Rough Work

G1



Hindi+English

G1 44
frerfefae [E9r <am7 4 g - Read carefully the following instructions :
1. 11@ RIER IS CED qﬁ&ﬂ?ﬁ’ et 1 a9 gaw-93 | 1. Each candidate must show on demand his/her

fe@m |

. STefiers a1 Tt ot fosiw stqafa o fomn =68
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SURIfa-UsTeh et Tél feh U al oI WIHT SITu
foh So7 ST o T Wt ¥ 3R 9w ergfea
|TYF ST WTHEAT HIET ST |
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. No candidate, without special permission of the

. The candidates should not leave the

. Use of Electronic/Manual Calculator is

. The candidates are governed by all Rules and

. No part of the Test Booklet and Answer Sheet

. The candidates will write the Correct Test

Admit Card to the Invigilator.

Superintendent or Invigilator, would leave his/
her seat.

Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases where
a candidate has not signed the Attendance
Sheet second time will be deemed not to have
handed over the Answer Sheet and dealt with
as an unfair means case.

prohibited.

Regulations of the examination with regard to
their conduct in the Examination Hall. All cases
of unfair means will be dealt with as per Rules
and Regulations of this examination.

shall be detached under any circumstances.

Booklet Code as given in the Test Booklet/
Answer Sheet in the Attendance Sheet.




